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Example Adjusted Student Count Calculations

100 Students in a Neighborhood School have an Adjusted Student Count of 154.6
And a per student adjustment of 1.55.
122.85 base
+     1.27 multiplier   X 
(100 – 75 = 25)
122.85 + 31.75 = 154.6
154.6/ 100 = 1.55 
100 Students in a Charter School under Current Law have an Adjusted Student Count of 84

And a per student adjustment of .84
No base
+       .84 multiplier  X   all 100 students

0 + 84 = 84 
84/100 = .84

   

100 Students in a Charter  School under SB 57 have an Adjusted Student Count of 118
And a per student adjustment of 1.18.
No base
+       1.18 multiplier  X   all 100 students
0 + 118 = 118 
118/100 = 1.18
-----------------------------------------------------------------------------------------------------------------------------------------
The adjusted student count of each school is the root of state funding for school districts.  The number of students enrolled in a school is increased or decreased according to the formula in AS 14.17.450, to determine the school’s adjusted student count.  The adjusted student count is then multiplied by the district cost factor, the special needs factor and by the base student allocation, to determine the amount of funding.  

